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7H198 () 7RA208 (B8)

NO = 78| BrERsZI|(NO = 1% | e
BaP9 815 BaP9 815

1|&F 50mB/lF FE| 6 | 1000 |29|ZF 4 0 0OmB/FH FE| 1 | 945
2|87 50mBf8F FE| 12| 10115(30|8F4 0 OmB®F TE| 2 | 965
S|1ZF400mMBEAXEFL—[FZE| 1 [1040(31[ZF200mBAX FL—|F&E| 2 | 10110
4|BFL00MBAXRLU—|FE] 1 [ 1048 (|[32|BF200mBAX L —[FE| 2 | 10:20
5(&ZF200m&Ex%E FE| 2 | 1056 |[33[ZF1 OOmBERE FE| 3 | 10:30
6 [BF200mEXE FE| 2 [11.06(34|BF1 OOmEXE FE| 3 | 1042
7T 1ZF200mB/lBF FE| 2 | 11:15|[35|&ZF 1 OOmEXRE FE| 3 | 1050
8|BEF200mBE/lH FE| 2 [11:25]36|EF1 OOmEXE FE| 4 | 11.00
OLZF200mM/IN\DISA |FE| 1 | 1135|37|ZF100m/N\NFIS1 |[FFE| 2 | 1112
10|BF200m/INO031 |FTE| 1 [ 1140|38|EF100m/IN\NFTS1 |FT&E| 3 | 11:20
11|ZF200mEZE FE| 1 | 1150|(39|1ZF1 00OmBE/f FE| 3 |1 1130
12|BF200mEXE FE| 3 [ 11:55(40|BF1 OOmBBH FE| 4 | 1140

BR - k&8 BR - k&8

13|ZF8 0 OmB/ s |1 | 12:50 141|&ZF4 O OmBBF RS 1 | 13:00
14|58 F1500m B8 swsw | 1 | 13:05 [|[42|BF 4 0 OmBEBF FEEE| 1 113110
15|1ZF 50mB/d RES| 1 | 133043|ZF200mBAXFL—|3RESl 1 [ 13118
16|8F 50mB/dF RES| 1 | 1333[44|BF200mBAXEFLU— 2Bl 1 | 13125
17| ZF400mBAXRL— [RBEl 1 | 13:38([45|ZF1 OOmEXE RES| 1| 13:31
18|BF400mBAX L — [RBE[ 1 | 1348([46|EF1 OOmEXE RS 1| 13:36
19|ZF200mMEXE REE| 1 [ 1358(|[47[LZF 1 OOmERE RES| 1 | 13441
20[BF20 0mEXE FEEl 1 | 14:05||48|BF1 O OmIEXE REE| 1 | 1346
21|ZF200mB/lBF RES| 1 | 1412(1491&ZF100m/N\NF DS+ R 1 | 1351
22|BF200mB/lfF RES| 1 | 1419|501 F1 00m/INFDS+ BBl 1 | 1356
23|ZF200m/I\NFIS+1 R 1 | 14:26|151|ZF1 OOmB&BF RES| 1 | 1401
24|BF200m/\NFIS+1 R 1 | 14:33|52|BF1 0 OmB&#F RES| 1| 14.05
25|ZF 2 0 OmIEX)E RSl 1 | 14:39(53|@F400mX RLU—UL—|prm | 2 | 14:25
26|BF 2 0 OmIEx)E RSl 1 | 14:145(|54|BF400mX RLU—UL— || 2 | 14:45
27(ZF400m27 =L — || 2 | 1500 AT« D)=28414 A 1515~
28|BF400m2I7U—JL— || 3 | 1520 == (@FDH) 15.30
BRI’ T ERFZ 1550 =R T FEFZ 1550
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